C1

is going to rain tomorrow.
Answer:

are not enough clouds in the sky.
Answer:

IS a strong wind blowing.

Answer:

are some dark clouds over there.
Answer:

is a beautiful sunset.

Answer:

is a chance of thunderstorms tonight.
Answer:

is a light drizzle in the morning.
Answer:

is a frost warning for tonight.
Answer:

are some black ice on the road.
Answer:

is a warm and sunny day.
Answer:




Answers

is going to rain tomorrow.
Answer: It

are not enough clouds in the sky.
Answer: There

IS a strong wind blowing.

Answer: There

are some dark clouds over there.
Answer: There

is a beautiful sunset.

Answer: It

is a chance of thunderstorms tonight.
Answer: There

is a light drizzle in the morning.
Answer: There

is a frost warning for tonight.
Answer: There

are some black ice on the road.
Answer: There

is a warm and sunny day.
Answer: It



